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Type - Multiple Choice Single Correct 
Q1. GIKM : OQSU : : ? : YACE 
Question ID : 49429 
Opt1. RTUW 
Opt2. SQVW 
Opt3. VTRW 
Opt4. QSUW 
Correct Options - 4  
Q2. एका Đȧडा संमेलनात ͧभÛन-ͧभÛन Đȧडा ĤकारामंÚये अͧभǾची असणाâ या ͪवɮयाØयाɍचा समावेश झाला होता. यातील टेǓनस आवडणाâ या सव[ 
ͪवɮयाØयाɍना फुटबॉल आवडतो. कुèती आवडणाâ यांना ͩĐकेट आवडत नाहȣ; पण ×यातील काहȣंना åहॉͧलबॉल आवडतो. फुटबॉल आवडणाâ या काहȣंना 
कुèतीहȣ आवडत ेजर सागरला टेǓनस आवडत असेल, तर कोणता खेळ ×याला आवडत नाहȣ? 
Question ID : 49430 
Opt1. फुटबॉल 

Opt2. यांपकैȧ नाहȣ 
Opt3. कुèती 
Opt4. ͩĐकेट 
Correct Options - 4  
Q3. बहु तेक डॉÈटराकंड ेèवत:Íया गाɬया असतात. फार थोɬया ͧश¢काकंड ेèवत:Íया गाɬया असतात. Įी. काळɅकड ेèवत:ची गाडी आहे. यावǾन 
पढुȣलपकैȧ कोणत ेǓनçकष[ यथाथ[ नाहȣत? १) Įी. काळे डॉÈटर अस ूशकतील ͩकंवा नसतीलहȣ. २) Įी. काळे डॉÈटरच असतील. ३) Įी. काळे ͧश¢क 
असतील ͩकंवा नसतील. ४) Įी. काळे ͧश¢क असतील. 
Question ID : 49431 
Opt1. १ आͨण ४ 
Opt2. २ आͨण ४ 
Opt3. १ आͨण ३ 
Opt4. २ आͨण ३ 
Correct Options - 2  
Q4. खालȣलपकैȧ वेगळा शÞद शोधा. 
Question ID : 49432 
Opt1. Envelope 
Opt2. Stationary 
Opt3. Stamp 
Opt4. Pen 
Correct Options - 2  
Q5. खालȣ Ǒदलेãया चार शÞदांपकैȧ कोणता एक शÞद इतर तीन शÞदांहू न ͧभÛन आहे? संगणक, गणकयğं, मोजणी, èलाइडǾळ 
Question ID : 49433 
Opt1. मोजणी 
Opt2. èलाइडǾळ 

Opt3. संगणक 

Opt4. गणकयğं 
Correct Options - 1  
Q6. सहसंबधं ओळखा. BDAC : FHEG : : NPMO : ? 
Question ID : 49434 
Opt1. PQRS 
Opt2. HLTM 
Opt3. IJKL 
Opt4. RTQS 
Correct Options - 4  
Q7. ‘अनेक वेळा राजकारणातील लोकांना मनन आͨण वाचन करÖयापवूȸच उÈती आͨण कृती करावी लागत.े’ हे ͪवधान àहणजे पढुȣलपकैȧ काय आहे? 
Question ID : 49435 



Opt1. Ǔनरȣ¢णा×मक Ǔनçकष[ 
Opt2. वयैिÈतक मत 

Opt3. तĐार 
Opt4. वèतुिèथती 
Correct Options - 1  
Q8. एका Ǒदवसात सेकंद ͩकती असतात? 
Question ID : 49436 
Opt1. 86400 
Opt2. 68400 
Opt3. 48500 
Opt4. 85400 
Correct Options - 1  
Q9. एका åयÈतीने पिæचमेकड ेचालÖयास सुǽवात केलȣ. तो डावीकड ेवळून काहȣ अंतर चालला, पÛुहा डावीकड ेवळून काहȣ अंतर चालला आͨण शेवटȣ 
उजवीकड ेवळून चाल ूलागला तर तो आता कोण×या Ǒदशेने चालला आहे? 
Question ID : 49437 
Opt1. पवू[ 
Opt2. पिæचम 

Opt3. दͯ¢ण 

Opt4. उ×तर 
Correct Options - 3  
Q10. एका साकेंǓतक भाषेत DATE = 20 आͨण FADE = 30 तर ×याच सांकेǓतक भाषेत COAT = ? 
Question ID : 49438 
Opt1. 50 
Opt2. 60 
Opt3. 55 
Opt4. 62 
Correct Options - 2  
Q11. जर 1234 = RICE व 576 = MAT, तर 63741 = ? 
Question ID : 49439 
Opt1. TCAER 
Opt2. CTEAR 
Opt3. CTAER 
Opt4. TCARE 
Correct Options - 1  
Q12. पायल Ǒहचा जÛम 18 ऑÈटोबर, 1993 रोजी झाला. ×या वषȸ गांधी जयतंी शǓनवारȣ होती, तर पायलचा आठवा वाढǑदवस कोण×या वारȣ 
येईल? 
Question ID : 49440 
Opt1. गǽुवार 
Opt2. रͪववार 
Opt3. सोमवार 
Opt4. बधुवार 
Correct Options - 1  
Q13. विैæवक तापमानवाढȣस कारणीभूत ठरणारा Ĥमुख वाय ूकोणता? 
Question ID : 49441 
Opt1. ऑिÈसजन 

Opt2. नायĚोजन 

Opt3. अरगॉन 

Opt4. काब[न-डाय-ऑÈसाईड 
Correct Options - 4  
Q14. पेĚोͧलअम उ×पादनासाठȤ Ĥͧसƨ असणारे ‘अंकलेæवर’ हे Ǒठकाण कोण×या राÏयात आहे? 
Question ID : 49442 
Opt1. राजèथान 

Opt2. गजुरात 



Opt3. ओǐरसा 
Opt4. आसाम 
Correct Options - 2  
Q15. शीख धमȸयाचें दहावे गǾु, गǾु गोͪवदंͧसहंजी यांची समाधी कोठे आहे? 
Question ID : 49443 
Opt1. अमतृसर 
Opt2. औरंगाबाद 
Opt3. नांदेड 
Opt4. चंͫडगढ 
Correct Options - 3  
Q16. ‘गोबीचे वाळवटं’ खालȣलपकैȧ कोण×या Ĥदेशात आहे? 
Question ID : 49444 
Opt1. दͯ¢ण अमेǐरका 
Opt2. मÚय आͧशया 
Opt3. अरबèतान 

Opt4. उ×तर अमेǐरका 
Correct Options - 2  
Q17. ‘सɅĚल वॉटर अँड पॉवर ǐरसच[ èटेशन’ महाराçĚात कोठे आहे? 
Question ID : 49445 
Opt1. मु ंबई 
Opt2. नागपरू 
Opt3. नाͧशक 

Opt4. पणेु 
Correct Options - 4  
Q18. िजãहा पǐरषदेÍया सͧम×यांपकैȧ कोणती सͧमती सवाɍत मह××वाची असत?े 
Question ID : 49446 
Opt1. ͪव×त सͧमती 
Opt2. आरोÊय सͧमती 
Opt3. ͧश¢ण सͧमती 
Opt4. èथायी सͧमती 
Correct Options - 4  
Q19. ATM' या स£ंेचा अचकू ͪवèतार ͪवशद करणारा पया[य ओळखा. 
Question ID : 49447 
Opt1. अॅटोमेटेड टाईम मͧशन 

Opt2. अॅटोमेटेड टेल मͧशन 

Opt3. अॅटोमॅǑटक टेल मनी 
Opt4. ऑल टाईम मͧशन 
Correct Options - 2  
Q20. िजãहा पǐरषदेÍया सदèय×वासाठȤ Ǔनधा[ǐरत ͩकमान वयोमया[दा … वषȶ पणू[ हȣ आहे. 
Question ID : 49448 
Opt1. 20 
Opt2. 21 
Opt3. 18 
Opt4. 25 
Correct Options - 2  
Q21. संसदेचे संयÈुत अͬधवेशन बोलͪवÖयाचा अͬधकार कोणास आहे? 
Question ID : 49449 
Opt1. पतंĤधान 

Opt2. उपराçĚपती 
Opt3. राçĚपती 
Opt4. लोकसभेचा सभापती 
Correct Options - 3  



Q22. ‘शुÛयलÞधी’चे लेखक कोण? 
Question ID : 49450 
Opt1. लोकमाÛय Ǒटळक 

Opt2. बाळशाèğी जांभेकर 
Opt3. Ûयायमूतȸ रानडे 
Opt4. ͪवçणुबवुा Ħéमचारȣ 
Correct Options - 2  
Q23. ‘ͧश¢क Ǒदन’ कोण×या Ǒदवशी साजरा केला जातो? 
Question ID : 49451 
Opt1. 15 मे 

Opt2. 5 सÜटɅबर 
Opt3. 27 जून 

Opt4. 9 ऑगèट 
Correct Options - 2  
Q24. खालȣलपकैȧ कोण×या पया[यात नमूद केलेलȣ åयÈती िजचा भारतीय नागǐरक×वाचा लोप होणार नाहȣ? 
Question ID : 49452 
Opt1. एखाɮया åयÈतीने अÛय देशाचे नागǐरक×व èवीकारÖयासाठȤ भारतीय नागǐरक×वाचा ×याग करÖयाचे ठरͪवले व ×यासाठȤ तसा अज[ केला ती 
åयÈती. 
Opt2. ħçट मागा[ने संप×ती ͧमळवनू, गरैåयवहार कǾन Ûयायालयात दोषी ठरणारȣ åयÈती. 
Opt3. अÛय कोण×याहȣ देशाचे नागǐरक×व èवीकारणारȣ भारतीय åयÈती. 
Opt4. हेरͬगरȣ, देशġोहȣ यांसारख ेगभंीर गÛुहे करणारȣ åयÈती. 
Correct Options - 2  
Q25. महाराçĚातील पǑहãया बडंखोर ͪवचारवतं Ïयांनी ‘èğी-पǽुष तुलना’ नावाचा Ēथं ͧलǑहला ×यांचे नाव काय? 
Question ID : 49453 
Opt1. ताराबाई ͧशदें 
Opt2. रमाबाई रानड े
Opt3. पंͫ डत रमाबाई 
Opt4. साͪवğीबाई फुले 
Correct Options - 1  
Q26. खालȣलपकैȧ ͪवसंगत ठरणारा पया[य कोणता? 
Question ID : 49454 
Opt1. मेघ 

Opt2. जलद 
Opt3. पयोधर 
Opt4. जल 
Correct Options - 4  
Q27. जसे, खारȣक-खारका, माळा-माळा, तारȣख-तारखा तसे, खाट- 
Question ID : 49455 
Opt1. खाटा 
Opt2. यांपकैȧ नाहȣ 
Opt3. खाटȣ 
Opt4. खाɪया 
Correct Options - 1  
Q28. योÊय पया[य Ǔनवडा : भाकडकथा 
Question ID : 49456 
Opt1. कंटाळवाणी बडबड 
Opt2. Ǔनरथ[क गोçटȣ 
Opt3. गÜपागोçटȣ 
Opt4. लांबलचक भाषण 
Correct Options - 2  



Q29. ×याÍया घरावर पğे आहेत. या वाÈयातील ‘वर’ या शÞदाची जात ओळखा. 
Question ID : 49457 
Opt1. ͩĐयाͪवशेषण अåयय 

Opt2. ͩĐयापद 
Opt3. सव[नाम 

Opt4. शÞदयोगी अåयय 
Correct Options - 4  
Q30. ‘अंगी धैय[ असणाâ यांनीच हे करावे.’ या वाÈयातील ͩĐयापदावǾन कोणता अथ[ åयÈत होतो? 
Question ID : 49458 
Opt1. ͪवÚयथ[ 
Opt2. आ£ाथ[ 
Opt3. èवाथ[ 
Opt4. संकेताथ[ 
Correct Options - 1  
Q31. ‘राम नसणे’ या वाक् Ĥचाराचा योÊय अथ[ Ǔनवडा. 
Question ID : 49459 
Opt1. अथ[ नसणे. 

Opt2. शांतता नसणे. 

Opt3. रावण असणे. 

Opt4. देव नसणे. 
Correct Options - 1  
Q32. खालȣल शÞदांतील ‘भोजन’ या अथा[चा शÞद ओळखा. 
Question ID : 49460 
Opt1. ǒबहार 
Opt2. पǐरहार 
Opt3. उपहार 
Opt4. आहार 
Correct Options - 4  
Q33. ‘जुने ते सोने’ या àहणीचा समप[क अथ[ कोणता? 
Question ID : 49461 
Opt1. सोने हे जुनेच असत.े 

Opt2. जुÛया वèतचू चांगãया व उपयÈुत असतात. 

Opt3. जुÛया वèतू ंना चांगला भाव असतो. 
Opt4. जुने सोने महाग व मौãयवान असत.े 
Correct Options - 2  
Q34. ‘बागेĮीचा वण[ चंġाĤमाणे तेजèवी होता.’ या वाÈयात दडलेला अलकंार ओळखा. 
Question ID : 49462 
Opt1. उपमा 
Opt2. अनĤुास 

Opt3. उ×Ĥे¢ा 
Opt4. Ǿपक 
Correct Options - 1  
Q35. सुधासाठȤ कालच ͪवमलने काळा परकर ͧशवला. या वाÈयातील कता[ सांगा. 
Question ID : 49463 
Opt1. परकर 
Opt2. ͪवमल 

Opt3. सुधा 
Opt4. काळा 
Correct Options - 2  
Q36. ‘महायƨु’ या सामाͧसक शÞदात कोणता समास आहे? 



Question ID : 49464 
Opt1. कम[धारय 

Opt2. अåययीभाव 
Opt3. बहु ĭीहȣ 
Opt4. ɮवɮंव 
Correct Options - 1  
Q37. ततृीया ͪवभÈतीचा कारकाथ[ कोणता? 
Question ID : 49465 
Opt1. करण 

Opt2. संĤदान 

Opt3. कम[ 
Opt4. कता[ 
Correct Options - 1  Q38. choose the correct 'Indirect Speech' of the following sentence: The girl said to her friends, 
"Please lend me this book." 
Question ID : 49466 
Opt1. The girl asked her friend to lend that book. 
Opt2. The girl requested her friend to lend her that book. 
Opt3. the girl ordered her friend to give her tha book. 
Opt4. The girl requested her friend to lend this book to her. 
Correct Options - 2  Q39. Choose correct 'Synonym' for the given word: 'direction' 
Question ID : 49467 
Opt1. instruction 
Opt2. information 
Opt3. notice 
Opt4. action 
Correct Options - 1  
Q40. She said, " Don't tease my dog." (Convert into indirect speech.) 
Question ID : 49468 
Opt1. She warned them not to tease her dog. 
Opt2. She said that don't tease her dog. 
Opt3. She inquired if they were not teasing her dog. 
Opt4. She said not to tease my dog. 
Correct Options - 1  Q41. Choose the correct positive degree of the following sentence. India is one of the most beautiful 
countries in the world. 
Question ID : 49469 
Opt1. Very few countries of the world are more beautiful more as India. 
Opt2. India is one of the much beautiful countries in the world. 
Opt3. No other country is as beautiful as India. 
Opt4. Very few countries in the world are so beautiful as India. 
Correct Options - 4  Q42. Choose the correct answer to name the clause bracket in the sentence: I cursed him (as he 
missed the catch.) 
Question ID : 49470 
Opt1. Co-ordinate clause 
Opt2. Adverb clause of place 
Opt3. Adverb clause of reason 
Opt4. Adverb clause of manner 
Correct Options - 3  Q43. You understood the question. (Put a correct 'question-tag.') 
Question ID : 49471 
Opt1. isn't you. 
Opt2. didn't you? 
Opt3. wasn't you? 
Opt4. do you? 
Correct Options - 2  Q44. Being tired, she feel asleep. (Change into compound sentence.) 
Question ID : 49472 



Opt1. She fell asleep as being tired. 
Opt2. She tired so that fell asleep. 
Opt3. As being tired she fell asleep. 
Opt4. She was tired and fell asleep. 
Correct Options - 4  Q45. Don't allow anyone to enter this room. (Change the voice.) 
Question ID : 49473 
Opt1. Do not allow anyone to enter this room. 
Opt2. Not allow anyone to enter this room. 
Opt3. No one was allowed to enter this room. 
Opt4. No one is to be allowed to enter this room. 
Correct Options - 4  Q46. Pick out the clause that completes the sentence correctly : Sonali would like the girls …in the 
field. 
Question ID : 49474 
Opt1. played 
Opt2. to played 
Opt3. playing 
Opt4. had played 
Correct Options - 3  Q47. If he had tried, he…a job. 
Question ID : 49475 
Opt1. will have got 
Opt2. will get 
Opt3. would have got 
Opt4. gets 
Correct Options - 3  
Q48. Choose the sentence of correct exclamation of indirect speech from the following. 
Question ID : 49476 
Opt1. He cried in alarm that she was fainting. 
Opt2. He is cried in alarm that she is fainting. 
Opt3. He says in alarm that she fainted. 
Opt4. 'God, she is fainting,'' she said. 
Correct Options - 1  Q49. He is too good man to harm anybody. (Remove 'too…to') 
Question ID : 49477 
Opt1. He is not so good man that he cannot harm anybody. 
Opt2. He is so good man to harm anybody. 
Opt3. He is good man that he cannot harm anybody. 
Opt4. He is so good man that he cannot harm anybody. 
Correct Options - 4  Q50. Choose the correct answer to name the clause bracket in the given sentence. : He knows (why 
she was late.) 
Question ID : 49478 
Opt1. Co-ordinate clause 
Opt2. Adverb clause of reason. 
Opt3. Adverb clause of purpose 
Opt4. Noun clause 
Correct Options - 2  Q51. In edema, excess fluid accumulates in 
Question ID : 49479 
Opt1. Transcellular fluid compartment 
Opt2. Intracellular fluid compartment 
Opt3. Intravascular fluid compartment 
Opt4. Interstitial fluid compartment 
Correct Options - 4  
Q52. Anticoagulant of choice for coagulation studies is: 
Question ID : 49480 
Opt1. Sodium citrate 
Opt2. EDTA 
Opt3. Heparin 
Opt4. Potassium oxalate 
Correct Options - 1  Q53. Scar formation with contraction is a characterisitic feature of: 



Question ID : 49481 
Opt1. Acute inflammation 
Opt2. None of the above 
Opt3. Wound healing by secondary intention 
Opt4. Wound healing by primary intention 
Correct Options - 3  
Q54. Fibroid uterus is also known as 
Question ID : 49482 
Opt1. Fibrosarcoma 
Opt2. Hemangioma 
Opt3. Adenoma 
Opt4. Leiomyoma 
Correct Options - 4  Q55. Alcohol is used in tissue processing to serve the purpose of 
Question ID : 49483 
Opt1. Clearing 
Opt2. Dehydration 
Opt3. Embedding 
Opt4. Fixation 
Correct Options - 2  
Q56. Multiple myeloma is a tumour of 
Question ID : 49484 
Opt1. RBC’s 
Opt2. Monocytes 
Opt3. Platelets 
Opt4. Plasma cells 
Correct Options - 4  
Q57. Azurophilic granules are found in 
Question ID : 49485 
Opt1. Eosinnophil 
Opt2. Basophil 
Opt3. Neutrophil 
Opt4. Monocytes 
Correct Options - 3  Q58. Which one is not a stem cell disorder? 
Question ID : 49486 
Opt1. Chronic myeloid leukemia 
Opt2. Aplastic anaemia 
Opt3. Paroxysmal nocturnal haemoglobinuria 
Opt4. Thalassemia major 
Correct Options - 4  
Q59. Large granular lymphocytes are 
Question ID : 49487 
Opt1. Natural killer cells 
Opt2. Macrophages 
Opt3. B-cells 
Opt4. Dendritic cells 
Correct Options - 1  Q60. The earliest sensitive indicator of iron deficiency is 
Question ID : 49488 
Opt1. Koilonychia 
Opt2. Splenomegaly 
Opt3. Reduced reticulocyte haemoglobin 
Opt4. Microcytic hypochromic red cells 
Correct Options - 3  Q61. The term High Grade Squamous Intraepithelial Lesion (HSIL) is used for all of the following 
EXCEPT: 
Question ID : 49489 
Opt1. Moderate dysplasia 
Opt2. Mild dysplasia 
Opt3. Carcinoma in situ 
Opt4. Severe dysplasia 
Correct Options - 2  



Q62. Fish tapeworm infestation causes 
Question ID : 49490 
Opt1. Vit. B12 deficiency 
Opt2. Vit. C deficiency 
Opt3. Folic acid deficiency 
Opt4. Iron deficiency 
Correct Options - 1  
Q63. When the entire CBC is suppressed due to either anemia, infection, or hemorrhage is called? 
Question ID : 49491 
Opt1. Pancytopenia 
Opt2. Erythroplasia 
Opt3. Leukopenia 
Opt4. Thrombocytopenia 
Correct Options - 1  Q64. There are 3 classifications of Anemia. What are they? 
Question ID : 49492 
Opt1. Decreased RBC production 
Opt2. Blood loss 
Opt3. Increased Erythrocyte destruction 
Opt4. In adequate production of Hb 
Correct Options - 4  Q65. Hypocupremia is seen in 
Question ID : 49493 
Opt1. All of the above 
Opt2. sprue, cliac disease 
Opt3. osetoporosis, nephrotic disease 
Opt4. cardiovascular disease, colon cancer 
Correct Options - 1  
Q66. Warfarin should be used with caution in the following: 
Question ID : 49494 
Opt1. Gastrointestinal bleeding 
Opt2. recent neurosugery 
Opt3. Alcoholic liver disease 
Opt4. Liver impairment 
Correct Options - 4  Q67. Chronic Lymphocytic Leukemia is characterized by gradual accumulation of small mature ______ 
cells. 
Question ID : 49495 
Opt1. B 
Opt2. T 
Opt3. None 
Opt4. NK 
Correct Options - 1  Q68. Which of the following types of microscopy is valuable in the identification of crystals that are 
able to rotate light? 
Question ID : 49496 
Opt1. Darkfield 
Opt2. Polarizing 
Opt3. Compound brightfield 
Opt4. Phase-contrast 
Correct Options - 2  Q69. Which of the following cells may develop in sites other than the bone marrow? 
Question ID : 49497 
Opt1. Lymphocyte 
Opt2. Megakaryocyte 
Opt3. Neutrophil 
Opt4. Monocyte 
Correct Options - 1  Q70. Features of apoptosis are all except: 
Question ID : 49498 
Opt1. Condensation of nuclear chromatin 
Opt2. Cell swelling 
Opt3. No inflammation 
Opt4. Cell shrinkage 



Correct Options - 2  Q71. Which of these is an obsolete test? 
Question ID : 49499 
Opt1. Bleeding time 
Opt2. Ristocetin co-factor assay 
Opt3. Clotting time 
Opt4. Thrombin time 
Correct Options - 3  Q72. Which of the following has a different reference range for males and females 
Question ID : 49500 
Opt1. PCV 
Opt2. MCV 
Opt3. MCHC 
Opt4. MCH 
Correct Options - 1  
Q73. All of the following statement about NK cell are true except: 
Question ID : 49501 
Opt1. They comprise approximately 5 % of lymphoid cells in peripheral blood of adults. 
Opt2. They are MHC restricted cytotoxic cells 
Opt3. Morphologically they may be large granular lymphocytes 
Opt4. They express IgGFc receptor 
Correct Options - 2  Q74. Sequential steps of PCR are 
Question ID : 49502 
Opt1. Denaturation–Annealing- Extension 
Opt2. Annealing- Denaturation- Extension 
Opt3. Extension- Annealing- Denaturation 
Opt4. Annealing- Extension- Denaturation 
Correct Options - 1  Q75. In herediatary spherocytosis, osmotic fragility is 
Question ID : 49503 
Opt1. Decreased 
Opt2. Normal 
Opt3. Increased 
Opt4. None of the above 
Correct Options - 3  
Q76. These enzymes act as free radial scavengers EXCEPT: 
Question ID : 49504 
Opt1. Catalases 
Opt2. Glutathione peroxidase 
Opt3. Superoxide Dismutases 
Opt4. Caspases 
Correct Options - 4  Q77. All of the following are CC Chemokines EXCEPT: 
Question ID : 49505 
Opt1. Eotaxin 
Opt2. MCP-1 
Opt3. RANTES 
Opt4. IL-8 
Correct Options - 4  Q78. Which of these is NOT an isoform of Nitric Oxide Synthase: 
Question ID : 49506 
Opt1. iNOS 
Opt2. eNOS 
Opt3. nNOS 
Opt4. kNOS 
Correct Options - 4  
Q79. The most abundant glycoprotein in basement membrane is: 
Question ID : 49507 
Opt1. Laminin 
Opt2. Fibronectine 
Opt3. Elastin 
Opt4. Collagen 



Correct Options - 1  Q80. Wound contraction characteristically seen in secondary healing is due to: 
Question ID : 49508 
Opt1. Fibroblasts 
Opt2. Exuberant granulation tissue 
Opt3. All of the above 
Opt4. Myofibroblasts 
Correct Options - 4  Q81. The two vitamin K dependent proteins responsible for the inactivation of cofactors Va and VIIIa 
are; 
Question ID : 49509 
Opt1. Proteins C & S 
Opt2. Proteins P & D 
Opt3. Proteins C & A 
Opt4. Proteins B & D 
Correct Options - 1  Q82. Helicobacter pylori infection is associated with 
Question ID : 49510 
Opt1. Peptic ulcer 
Opt2. Emphysema 
Opt3. Bronchogenic carcinoma 
Opt4. Renal cell carcinoma 
Correct Options - 1  
Q83. Ischemic heart disease is most often due to 
Question ID : 49511 
Opt1. Stenosis of coronary ostia 
Opt2. Coronary Atherosclerosis 
Opt3. Embolisation to coronary branches 
Opt4. Coronary vasospasm 
Correct Options - 2  Q84. Hemophilia A is characterised by decresead levels of which coagulation factor: 
Question ID : 49512 
Opt1. Factor X 
Opt2. Factor VIII 
Opt3. Factor XI 
Opt4. Factor IX 
Correct Options - 2  Q85. A strong association of smoking is seen with the following malignancy 
Question ID : 49513 
Opt1. Lung cancer 
Opt2. Hepatocellular carcinoma 
Opt3. Cervical cancer 
Opt4. Multiple myeloma 
Correct Options - 1  
Q86. Fite’s stain is used for demonstration of 
Question ID : 49514 
Opt1. Tubercular bacilli 
Opt2. Fungus 
Opt3. Leprae bacilli 
Opt4. Virus 
Correct Options - 3  Q87. The word “Neoplasia” refers to 
Question ID : 49515 
Opt1. New growth 
Opt2. Loss of polarity 
Opt3. Loss of differentiation 
Opt4. Cancer 
Correct Options - 1  Q88. Bleeding time is prolonged in 
Question ID : 49516 
Opt1. Thrombasthenia 
Opt2. Von Wille brand disease 
Opt3. Thrombocytopenia 



Opt4. All of the above 
Correct Options - 4  
Q89. Sample in a vacutainer with grey top can be used for doing 
Question ID : 49517 
Opt1. Urea estimation 
Opt2. All of the above 
Opt3. Factor eight estimation 
Opt4. Glucose estimation 
Correct Options - 4  Q90. The pan T-cell marker is 
Question ID : 49518 
Opt1. CD 3 
Opt2. CD 56 
Opt3. CD 10 
Opt4. CD 20 
Correct Options - 1  
Q91. Basophilic stippling is observed in all except 
Question ID : 49519 
Opt1. Hereditary elliptocytosis 
Opt2. P-5-N deficiency 
Opt3. Megaloblastic anaemia 
Opt4. Lead poisoning 
Correct Options - 1  
Q92. Bone morrow erythropoiesis in an untreated case of iron deficiency anaemia is 
Question ID : 49520 
Opt1. Micronormoblastic 
Opt2. Megaloblastic 
Opt3. Macronormoblastic 
Opt4. Normoblastic 
Correct Options - 1  Q93. Atrophic pattern in a PAP smear is seen in: 
Question ID : 49521 
Opt1. Adolescent girls 
Opt2. Females with carcinoma cervix 
Opt3. Post menopausal females 
Opt4. Pregnant females 
Correct Options - 3  
Q94. Causes spurious decrease in MCV 
Question ID : 49522 
Opt1. hyperglycemia 
Opt2. autoagglutination 
Opt3. Cryofibrinogen 
Opt4. high WBC count 
Correct Options - 3  
Q95. Laboratory Studies: Red Cell Indices: Evaluation of RBC saturation with Hb.  32-36% 
Question ID : 49523 
Opt1. MCH 
Opt2. MCV 
Opt3. None 
Opt4. MCHC 
Correct Options - 4  Q96. Decitabine increases the fetal hemoglobin production by inducing methylation of DNA and thus 
prevents the switch from gamma to beta-globin production. 
Question ID : 49524 
Opt1. C 
Opt2. False 
Opt3. TRUE 
Opt4. D 
Correct Options - 2  Q97. Which anemia is classified as not being able to use iron properly to synthesize hemoglobin 
because of a inherited cause. 
Question ID : 49525 
Opt1. aplastic anemia 
Opt2. hypochromic anemia 



Opt3. Iron deficiency anemia 
Opt4. none 
Correct Options - 2  
Q98. Internal quality control in a hematology cell counters can be done by all except 
Question ID : 49526 
Opt1. Commercial control analysis 
Opt2. Joining a proficiency testing program 
Opt3. Retained sample analysis 
Opt4. Moving average (Bull’s algorithm) analysis 
Correct Options - 3  
Q99. HbH disease (α-thalassemi is caused by 
Question ID : 49527 
Opt1. Three gene deletion 
Opt2. Two gene deletion 
Opt3. Single gene deletion 
Opt4. Four gene deletion 
Correct Options - 1  Q100. Cancer cachexia takes place through: 
Question ID : 49528 
Opt1. Ubiquitin-proteasome pathway 
Opt2. Lysosomal pathway 
Opt3. All of the above 
Opt4. Cell receptor regulation pathway 
Correct Options - 1   

 


